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FAI\Y

=4 3t o DOOR |&AAH| 447 AT [a) & B &AME T oz
25| Bk | 251 B 4Mal | 351 BSMA | 35 5 sk | 251 E sk | 251 E 4Ma1 | 351 BSME | 35108 e

MAX L9 0111 ~ 0512| 5 4 KHB - © - - - ©) - -

YRV M2 0008 ~ 0507| 5 5 HB * O - - * © - - |omEy—traEEELE
7hL—7 S2 0007 ~ 0412| 5 7 MV * © - * © © -

ThL—03Y S2 9906 ~ 0505| 5 4 KHB - * - - - * - -

ThL—132 S3 05.05 ~ 5 4 KHB - © - - - © - -

TILT4R V3 0109 ~ 0601 | 4 5 KHB © © - - © © - -

FILT4R V4 06.01 ~ 4 5 SE © @) - - © © - - |OES-MRAERENE
Iyt L2 0512 ~ 5 4 KHB - © - - - ©) - -

)— M401F | 06.05 ~ 5 5 HB * O - - * ©) - - |OEY - MERELE
A7 M1 98.02 ~ 0406 | 5 5 HB * ©) - - * © - -

Y=h L4 0609 ~ 09.05| 5 4 KHB O - - - |EBO#H| - - |oBE -+ AEARLE
Bk L35/36 | 03.11 ~ 07.12| 5 4 KHB - O - - - © - - |omEy—raERBELE
Ak L37/38 | 07.12 ~ 5 4 KHB - © - - - © - -

TUAR J1 9704 ~ 06.02| 5 5 SuUV * * - - * © - -

TUARFYE-ILET |J111/J131] 98.10 ~ 5 4 KSUvV | - © - - - © - -

eI L7 9911 ~ 03.12| 5 4 KSUV [ - ©) - - - © - -

NEybh—3 S32/33 | 0412 ~ 5 4 KHB = © - - - |HBlo#H| - -

E—J J2 06.01 ~ 5 5 Suv * © - - * © - -

J—y M30/31 | 0406 ~ 1002 | 5 5 HB * ©) - - * © - -

J—y M6 10.02 ~ 5 5 HB * © - - * |EROH - -

J—U VIR M5 08.12 ~ 5 7 MV * O O - * © ©) - |xEEDRESELTGS,
27 L275/285| 06.12 ~ 3 4 KHB - O - - - © - - |EE1)RESBELTGEA,
37 L275/285| 06.12 ~ 5 4 KHB - O - - - © - - |EE1)RESBELTUE,
23/3574 L250/260 | 02.12 ~ 0612 | 3 4 KHB - © - - - © - -

325/357 4 L250/260 | 02.12 ~ 0612 | 5 4 KHB - © - - - © - -

2914 —R LA300S | 11.09 ~ 5 4 KHB - @) - - - © - - [xEEl)RESBLTES,
27337 L675/685| 09.08 ~ 5 4 KHB - O - - - © - - EE1) RESBLTGESL,
50—/ L650/660 | 04.11 ~ 09.01 3 4 KHB - © - - - © - -

50—/ 1L650/660 | 04.11 ~ 09.01 5 4 KHB - © - - - © - -

259—/1000 L7 0208 ~ 0411] 5 4 HB - ©) - - - © - -

L—rja T L575 | 08.08 ~ 5 4 KHB - © - - - © - -




Higg s F3 DOOR |®AA%| 4T AT (] & BR kA mERT o
25| B | 251 B 5MA | 350 B 4MAl | 35 B cha | 251 B sh e | 251 B SMEl | 351 B 5Mal | 351 5 e
L—T L15/16 [ 0212 ~ 06.10| 5 4 | KHB | - o | - - _ o | - .
L—TJ L175/L185] 0612 ~ 1012 | 5 4 KHB - O - - - © _ _
L—T LA100/110 [ 10.12 ~ 5 4 KHB ~ o - - 5 o - -
A=I57 = 0408 ~ 0901 2 4 KHB — O _ - - © - - [xEED)RESELTUEL,
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